Roughness Based on Ice Concentration
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Helcome to the SHEBA Bulk Flux Algorithm. U 2_8.

the wind speed <in ms/s> and the height (in m>» of the observation?

the air temperature <in deg C» and its height?
the relative humidity <in ¥ with respect to water??

the surface temperature ¢in deg C)
harometric pressure Cin mh)>?

Do you know the physical roughness €1 <xi parameter of Banke et al. 1988>
or do you want to determine roughnessz from the ice concentration <227

What is the ice concentration in percent?
A value less than 9?.5% invokes the algorithm for summer sea ice
and the marginal ice =zone.

Wind speed = 6.880 ms/s at 10.80 meters
Temperature = —20.88 deg C at 10.800 meters
Specific humidity = 5.483E-84 kg-skg at 10.80 meters
Relative humidity with respect to ice = 84.96x
Pressure = 1808.0 mh
Surface temperature = —22_B00 deg C
Ice concentration = 10808.868:x
Aerodynamic roughness model iz based on ice concentration.
Concentrations less than 2?.5%x¢ inveoke the summer model.
Iterations = 5
= A.201? m/s
t* A.A667? deg C

L_383E-87 kgskg
Ohukhuu length 39.182 m
Effective wind 6.8802 mss

2_385E-B84

7 _95%1E-85

1.167E-84

4_A83
Surface Stress = L.654E-B02 N/m=x2
Sensihle Heat Flux = —18_811 U-/ma=2
Latent Heat Flux = —B_421 W/maex2
Evaporation Rate = —-B8.813 mm-sday
Enter new conditions €1 or end <@>7
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Roughness Based on xi (§)
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Helcome to the SHEBA Bulk Flux Algorithm. U 2_8.

What is the wind speed <in mss>» and the height <{in m» of the observation?
6.18
What is the air temperature <in deg C» and itz height?

iz the relative humidity <in » with respect to water)?

the zsurface temperature Cin deg G
harometric pressure (in mh)>7?

Do you know the physical roughness €1 <xi parameter of Banke et al. 19886>
or do you want to determine roughness from the ice concentration <227

Enter xi in centimeters.

Wind speed = 6.80 ms/s at 10.80 meters

Temperature = —20.880 deg C at 10.80 meters

Specific humidity = 5. 483E-84 kgskg at 180.80 meters

Relative humidity with respect to ice = 84_%6x

Pressure = 188B.80 mb

Surface temperature = —22_800 deg C

Ice concentration = 108.00:x

Aerodynamic roughness model is bhased on physical roughness
with xi = 3.8808 cm

Iterations = &

u*x = @A.1741 mss

t=*= = @.A635%8 deg C

g* = 5_B65E-87 kgskg

38.573 m
6.082 mss

Obukhov length
Effective wind
| 4_734E-85
6 .56BE-HA5
8 _245E-05
a.723
Surface Stress = 4_203IE-B2 MH/mxx2
x =

Sensihle Heat Flu

Latent Heat Flux —B.347 W/maexd

Evaporation Rate —-8.811 mm-sday
Enter new conditions €1 or end <@>7

=15.420 Wrmaex2
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